L1 °L8L ‘6%9 ‘G L1 18 ‘6%9 ‘C iz HH LT °L8L ‘6%9 7 L2 P
€s 92
¢S g3 Y YN Al L S T B
1§ {4 VYT A ML T B —
08 SR N A €3 SN T i [ Ay
LT L8L ‘679 ‘2 L1°18L ‘679 ¢ 6% HERXDEY LT°L8L ‘6¥%9 ‘C (44 HENNhEF
8% HEWY —4 T |14
Ly HESHEGRRY = 02
00 "8S0 ‘07T 00 "850 ‘0T 9% WX EE Y+ 61
c¥ HESELH8TE V| 8T
4 HE X EEE 3+ LT
(4 HERE N 91
(47 HEFMEWAR I ST
|54 HEX RS SRy Y il
0% XUy = 3!
6€ 2O T H 4!
8¢ HEXHZ% —+ ]!
LB HE ¥ gl 01
L1628 ‘VS¢ ‘¢ LT 628 ‘FSE T 9¢ HWEEFRNUEHT LY Y 6
00 "006 ‘FST 00 "006 ¥ST g HERENEM ST\ 8
Ve HXHHEEYNK T b
43 HEWEEE 9
43 HEXERE T G
53 HEZZIY7 M i%
0€ HELE = g
65 HELG T 4 Ry e S e
8¢ HECHE7 3 — LT "L8L ‘679 ‘T ! A7 — —
i £ 4 i & ! o
VE A M VXA . V4 by
[ YLy H Mir I3 L F 0, H i
SFEHYH WLTEST T — f N o o9 Y\

U TS
V0B N il

f“mf@'“" |

> S

2 N TR I

2 E W BT 22\ Shy ¥ 5T il




